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GCSE Mathematies (Linear) 1380
Formulae: Foundation Tier
You must not write on this formulae page,
Anything you write on this formulae pape will gain NO credit.
g+
Avea of trapezium = 1{a+ bk

e B

/cross )
Volume of prism = area of cross section x length section

L"r’/\_et\‘%m’/
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Leave |
blank
Answer ALL THIRTY questions.
Write your answers in the spaces provided.
You must write down all stages in your working.
You must NOT use a calculator.
1. The pictogram shows the numbers of howrs of sunshine in London on Monday, Tuesday
and Wednesday of one week.
o | O O O O
Tuesday O CI Kev: O
ts 2 hours
Wednesday O O fepresen
Thursday @ Q O
Friday Q Q ﬂ
(a) Work out the number of hours of sunshine on Monday.
2 hrs
6
(b} Work out the number of hours of sunshine on Tuesday.
D hg
0
There were 6 hours of sunshine on Thursday.
There were 5 hours of sunshine on Friday.
(¢) Use this information to complete the pictogram,
@ Q1
(Total 4 marks) _l

N 3 4 6 7 7 A 0 3 2 4
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2 Diagram NOT
accurately drawn

+ 30cm »

+———— [6em —————+4— OQcm —b

Here is a picture of a stick.
The stick 15 in three parts, A, B and C.

The total length of the stick is 30 cm.
The length of part A is 16 cm,
The length of part I3 is 9cm.

Work out the length of part C.
-g o (16+T)
mmﬁﬂq - 3o - (16
= 3D - 25

- 5

2

e €L Q2

(Total 2 marks)

3. {a) Work out 50% of £60

,*«&m i j_ P
g@f’u - Z 5 &"iL é@
., o0
' )
(b} Work ocut 25% of 20 metlres.
- i, i
25 i{, - i
o i
y ¥ pomy
"i—zﬁ ViU 5}§ 20 = M!.:,;(. ’}(2&) - 5 :Dmeires
(093

{Total 2 marks) ‘

D 0 O O R




Leave
) blank
4. Here is a point P marked with a cross ().

Tcm

G

(a) Draw aline 7cm long,
Start from the point P.

1

(b} On your line, mark with a cross (X} the point which is 3cm from P.
Label this point ).

1) |4

{Total 2 marks) f

5. Here are the first 4 terms in 2 number sequence.
124 122 120 118

s

(a) Write down the next term in this number sequence,

(b) Write down the 7th ferm in this number sequence.

)
9 camnot be a ferm in this number sequence.
(¢) Bplain why.
JMuibpfest 1 dleven Ghdd.
1) 05

{Total 3 marks)

5
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6.
The diagram shows a shaded shape drawn on a centimetre grid.
(a) Work out the perimeter of the shaded shape.
G rlae iriedeivletsivg 1L
................................ cm
O
{b) Work out the area of the shaded shape,
State the vnits of your answet.
/ B
focee = 2 Cm
2}
E Diagram NOT
1 accurately drawn
represents
lem?
Here is a solid prism made of centimetre cubes,
(¢} Find the volume of the solid prism.
4
i P = i 5 3
Nimbpe of Cuhes = 15 e

{Total 5 marks}

Leave
blank
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7. The table shows part of a bus timetable from Shotton to Alton.

P
shotton {0730, 0800 | 0900 1000 | 1100
Crook | o745 | o81s | o915 [{(io1sT) ws
prudnoe | 0758 {0828 }| o928 | 1028 | 1128
Hoexham | 0815 | (osas3| ooas | 1045 | s145
Alton  |(0830 )| 0900 | 1000 | 1106 | 1200

A bus leaves Shotton at 0730

(a) What time should it arrive at Alton?

‘ Rg’g l"&;‘j %mm %@MQ« g;. 3) by,
Another bus leaves Prudhoe at 0828
(b} How many minutes should if take to get to Hexham?
B

Serena lives in Crook. - .
She has to be in Hexham by quarter past 11 § & i i5

(c) What is the time of the latest bus she cao. catch from Crook to arrive in Hexham by
quarter past 11?7

gp\ﬁfiﬂ weeds F‘D Cotetn. Hha 1015 o is
trom Crook o &

(Total 3 marks)

8. (a) Write the number 4117 in words.

?%Lu:..:frﬁfaﬁe:\.:&;fiizﬁ&..;,..Q..%f‘iiﬁ._,,..}4‘?}f‘t_w.%..‘sff?:Siliﬁfﬁi-d..,_.,@?m.d.......,___
Seyenn e - W
(b) Write the number 4117 to the nearest hundred.

411F = 4foo Clw) 4loo
N ' s
{Total 2 marks) T

7
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Diagram NOT
accurately drawn

.........

The diagrarz shows four 3-D solid shapes.

(2} Write down the number of vertices of shape A.

d corners

/\

Here is the net of ene of the shapes, A, B, C or D.

(b Which shape?

Uy

.

{Total 2 marks)

Leave
blank
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Leave-\i
blank
10. :
Miles per hour
The diagram shows the speed of a car.
(a) Write down the speed of the car. .
5% |
certrteeeet s emnee e Miles per hour
(1)
The scale below shows the amount of fuel in a tank,
Full
=éi:'||HH!|JJJ||:|N
3 4 5 6 7
Gailm‘]gs} &
(b) Write down the amount of fuel in the tank.
?}\@ gallons
m
‘When the tank is full, there are 7 gallons of fuel in the tank.
(c) Work out how much more fuel has to be added to the tank to fill it completely.
rrrrre e eee s een. gl lOTIS Q10
)
(Total 3 marks) |
9
O .0 0 L0 A Turn over
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1L YA

1

1

o 1 2 3 4 5 6 7

(2} Write down the coordinates of the point P.

(\’j}r’,e::,i.% : ﬁhL‘B

(b) Write down the ceordinates of the point {).

i BN a‘jm:, 3

M is the midpoint of the line from O to F.

(c) Find the coordinates of M.

M %*@m&ﬁ}i 25t
— 5

(Total 4 marks)

Leave
blank

Q11
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12.

City Temperature
Cardiff -2°C
Edinburgh —4°C
Leeds 2°C
London —-1°C
Plymouth 5°C

The table gives information about the temperatures at midnight in 5 cities.

(a) Write down the lowest temperature.

i

0y

{b) Work out the difference in temperature between Cardiff and Plymouth.

5 «- -2 = 542 ‘

)
{¢) Work out the temperature which is hailfway between —1°C and 5°C.
I B
2

2 3

.

{Total 3 marks)

Leave
blark

| U 0 T 0O LR
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13.
Impossible Unlikely Even Likely Cerlain
‘Which word from the box best describes the likelithood of each of these events?
(2} You throw an 6rdinary dice and get an eight. .
% (4 %{:) iwgpu&;cﬁj’f-&
(Y
(b) You throw a coin and get a Heads.
. . L D
PLiy =11y Even
M
(¢} December 6th 2008 is the day afier December 5th 2008
Certman
m e
(Fotak 3 marks) ‘
14. (&) Workout 4x5-8
4520 [0
2” - % ................................. (1)
(b) Work out  18+2x3
LADd=f ,
1$ +e = 24 4
B
(e} Workout {(4+3)x7
4 +3 =~ F 4
1y Q14
(Total 3 marlks) l
12
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Leave
blank

. . f
15 @) Simplify 8x-4x = &

(b) Simphify yxy=xy = ﬁ 3

(c) Simplify  4x +3p—2x+ 3y
4o -2x #3475y
2x 48y A3y

@ ,915
(Total 4 marks) W

13
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blank
16, | Diagram NOT
C
accurately drawn
60° 30°
4 6.5cm B
(a) Make an accurate drawing of triangle 4BC.
The side 42 has already been drawn for vou.
/
J/;
1/'
2}
{b) Measure the size of the angle at C in your triange,
, : &
i)
bo+3c = G0 ‘_ 90 g
40 +98 = 130 o
(Total 3 marks)
14
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. o | Leave
17. Work out 36 » 24 % (C?’ o
x 2 4 o
= (44
+ 1920
264
. {Yotal 3 marks) '
18.
A D Diagram NOT
accurately drawn
88 96°
B c
James says, “The lines 48 and DC are parallel.”
Ben says, “The iines 4B and DC are not parallel.”
Who is right, James or Ben?
2Y e = (¥4 Lben
Give a reason for your answer. )
3::4 BB s paniled o DC Thew
$E + 96 i’sf‘n,e:;gf’ézyuﬁvd J8F {wiﬂ,«uh i mﬁ" 18
*ff’if\k Lokt D) (Total 2 marks)
15
10 00 0 0 L Tan over
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19. Diagram NOT
accurately drawn

124° P

(a} (i} Work cut the size of the angle marked p.
- b
P"Z‘; 80 - 124 = bé ‘
56 .

(11} Give a reason for your answer.

/imﬁi& ﬁwjfffMﬁhé&meiﬁda(fﬁﬁDff’f(}@

Diagram NOT
accurately drawn

68°

{b) Work out the size of the angle marked ¢.

% = 90 - 6 1
=22

o

L2

W o
{Total 3 marks) _1

O O




20. There are 600 counters in a bag.
S0 of the couaters are yellow.

(a) Work out 90 as a fraction of 600
Give your angwer in its simplest form.

%

boo

1
£o

- o

180 of the 600 counters in the bag are red.

(b} Work out 180 as a percentage of 600

ig0 ;g@ - 30
-

The rest of the counters in the bag are blue or green.
There are twice as many blue counters as green counters.

{¢} Work ont the number of green counters in the bag.

(2)
o G yEen.

tovnter which are blue

- {90 +136)
‘_\Efeiﬁm Kﬂe:’i

e Wwe, e ioim Grﬁf‘&‘ew .

Muml’a@r :
» Eoo

- éﬁ)g - 2%0 =330

Leave
blank

33 3= Ho i
2 2 plbolusr
blm LY = 220 W Q20
Cyreew “‘3 { Fonalanswi /) &’W‘i \-E%—?%ﬂg
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21. The two-way table gives some information about how 100 childrer travelled to school one

day.
Walk Car Other Total
Boy 15 25 14 54
= 3 i
Gild 2.1 8 16 i
Total 37 B A0 100

{a) Complete the two-way table.

()
One of the children is picked at random.
(b} Write down the probability that this child walked to school that day.
{N& &} - 3% s
(60 O 3T

One of the girls is picked at random.
(¢} Work out the probability that this girl did not walk to school that day,

V{ wrwalk ) = ?{Lﬁr} oF P(_@er) 2;‘4 z

/

Y
Leave
blank

2.
91

. éﬁﬁif) “§= ?(L« Hﬁf?) @ o
-1 — T
ey Y " - (Total 6 marks) '
T éa Y&
22. Compasses cost ¢ pence each.
Rulers cost r pence each.
Write down an expression for the fotal cost, in pence, of 2 compasses and 4 rulers.
7 Lesran ?ﬁm%ﬁﬁ 2 Te2C +4r
4 rulels 4
2CH8Y o2

.. pence
(Total 2 marks)

T O R




23. Diagram NOT
accurately drawn

Uatmﬁ T

Work out the size of the angle a.

20+ 14D +5% T = 360
0- 3L~ (12044 158)
a= 4% LA

{Total 2 marks)

A’V\ﬁ E“‘O’} i;i., e

add uf o BAD

E a-.}%. a‘?ﬂ\

24, (a) Solve 4y +1=9
4o A1 — 1 =9~
L~ =%

(2)

(b) Solve 2y-1=12
Ly~1+l= |2+
‘2.%--‘:__ G

13 (s, 13, =65
' 2)

{Total 4 marks)

Q24

0 O O R

19
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1 e ‘...; “—-‘- S S - " q i)
816 4 3o 2 48 5 x of 0

[IRERDY I AV

]
L g

@
1S Et‘fs dron
f L
4 4 x
| |

() Deseribe fully the single transformation that will map shape P onto shape Q.

Tmmﬁizmuw«%hmﬁjktmm&
bre dewre @

Leave
blank

e N MW Clockewise.

Q25

o (Total 4 marks)
0 >
vV ( -\ )

20
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26.

Diagram: NO'T

accurately drawn
4x+1 Y

2x+12

The diagram shows a rectangle.
All the measurements are in centimetres.

{a) Explain why dx+1=2x+12

l«-é{uu&, /{?nj Has im0 E’"{”WW

{b) Solve dx+1=2x+12

72+l = ]2
Zx +t-1 =12t

SIENLIE t

(c} Use your answer to part (b) to work out the perimeter of the rectangle, P:;Pfﬂm ﬁ,/i{-_{“

?ﬁ_ P S O S L+t + 42+

X

- "2 +13

:5“5

Leave
blank

v pppes Lheside = )
U

5 2 L5 @ Q2
- ﬁ( ﬂ‘“‘.}-l% - (Tolal\S marks)
R0 0 N Turn over



27. Here are the plan and front elevation of a solid shape.

Pién Front Elevatic‘)n

(a) On the grid below, draw the side elevation of the solid shape.

@)
(b) In the space below, draw a sketch of the solid shape.
/w”"‘“*“""”“’“'?
4:__// \\
)

{Total 4 marks)

i Leave
blank

Q27

§
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28. Fred is going to take a survey of the magazines read by students.
He wants to design a guestionnaire.

(a} Design a suitable question that he could use to find oul what types of magazine
students read.

N\mﬁfb" Fupe of wmagazaw de vow
fype e Y

Y eoud

3

@
Fred put the question below on his questionnaire.
‘How many magazines have youread?’
A few Alot
(b) Design a better question,
You should include some response boxes.
H—BT'W s vm YL &4 3& ZAWES i’\ﬁ{. W 8ﬁu T‘?ﬁt}cj
i Hee Vad werk 7
o ) 1-3 Overy
)

(Total 4 marks)

biank

(28

RO L A AR
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29, Use the information that
322 x 48 = 15456

to find the value of

(@  322x483 = ‘}?-;2:"%"2& 4% 15454

les  io ml’&@@glﬁQSé
M

Gy 05322 %048

3, 48 _ 2¥5%6 - P54 5¢

Leave
blank

{Total 4 marks)

iﬁi}b m;a@ - j@ﬁ L0 1))
(c) 15456 +4.8 ’
5456 = 43= 321 3220
[5450 = 4.8 = 3220 w 9%
{Total 3 marks)
30. 2xt=72 .
{a) Find a value of x.
I =+
o 2 3y
Ry :
%= +VY3¢ = L b ,..;.)
4('[‘)) Express 72 as a product of its prime lactors,
/7N
AN
~ 08
/™ ., .
» 9 Lraxzx 3K3

TOTAL FOR PAPER: 100 MARKS

END

24

O O




